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datall <- read. table ("D:/sample/data_01. csv”, skip=6,
png (file="D:/sample/data_01. png”)

plot(data11$V2, main="FERET—4E chA”)

dev. off ()

datall <- read. table (“"D:/sample/data_01. csv”, skip=6,
png (file="D:/sample/datasp0001_01. png”)

a <- spectrum(datal1$V2, method="ar")

plot(a, sub="/8P—ZXR%H L)

dev. off ()

datall <- read. table ("D:/sample/data_01. csv”, skip=6,
png (file="D:/sample/databi0001_01. png”)

bispec (data11$v2)

dev. off ()

datall <- read. table ("D:/sample/data_01. csv”, skip=6,
png (file="D:/sample/dataau0001_01. png”)

autcor (datal1$v2)

dev. off ()

datall <- read. table ("D:/sample/data_01. csv”, skip=6,
png (file="D:/sample/data_01b. png”)

plot (datal1$§V3, main="FERHET—4F chB”")

dev. off ()

datall <- read. table ("D:/sample/data_01. csv”, skip=6,
png (file="D:/sample/datasp0001_01b. png”)

a <- spectrum(datal1$V3, method="ar")

plot(a, sub="/8P—R~R%H kL)

dev. of f ()

datall <- read. table ("D:/sample/data_01. csv”, skip=6,
png (file="D:/sample/databi0001_01b. png”)

bispec (datal1$V3)

dev. off ()

datall <- read. table ("D:/sample/data_01. csv”, skip=6,
png (file="D:/sample/dataau0001_01b. png”)

autcor (datal1$Vv3)

dev. off ()
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